iction o

turn,

b
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13.

14.
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16.
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18.

The steepness of IS curve depends on---

a. The elasticity of investment demand
curve;

¢. Demand for money

The position of IS curve depends on---
a. Rate of interest
¢. Autonomous expenditure

d.

b.
d.

The size of the multiplier;

Botha &b

Rate of investment,
None of the above

Which of the following best defines the LM curve?

a. [llustrates the effects of changes in r on

desired money holdings by
individuals

¢. The combinations of rand Y that
maintain equilibrium in the goods
market.

Demand-pull inflation may be caused by:

a. Anincrease in costs
¢. A reduction in government spending

b.

b.
d.

Ilustrates the effects of changes in r on
investment.

The combinations of rand Y that
maintain equilibrium in financial
markets.

A reduction in inierest rates
An outward shift in aggregale supply

Tobin’s model of the speculative demand for money improves on Keynes’s analysis by

showing that

a. The speculative demand for money is

interest insensitive.
¢. People will hold a diversified
portfolio.

b.

d.

The transactions demand for money is
interest insensitive.

People will hold money or bonds but
nol both.

According, to the Phillips curve, unemployment will return to the natural rate when:

a. Nominal wages are equal Lo expecled
wages

¢. Nominal wages are growing, faster
than inflation

In a boom:
a. Unemployment is likely to fall
¢. Demand is likely to fall

b.

d.

b.
d.

When aggrepate economic aclivity is declining,

a. A contraction
¢. Atrough

The term business cycle refersto

a. The ups and downs in production of
commodities.

¢. Decline in economic activities over
prolonged period of time.

Select the odd out:
a. Expansion
¢. Upswing
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b.
d.

=

Real wages are back at long-run
equilibrium level.

Inflation is higher than the growth of
nominal wages

Prices are likely to fall
Imports are likely to fall

the economy is said to be in
An expansion.
A turning poinl.

The fluctuating levels of economic
activity over a period of time.
Increasing unemployment rate and
diminishing rate of savings.

Boom
Trough
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